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1. sopam gt W20

#include <stdio. h>

int main )

{ unsigned char a=38,b=49;
a “=k: b "=a; a "= b
printf {*a=%d , k=%d\n”, a,b J;

return 0;

}

2. s a PR

\\ i
vold fooiint [1[32] ):
main ()
i
int a [Z1[3]1=§ 1 1, 2,3y + { 4,5,63, 17,6891
fooi{al;
AEFRTLERTT =L - EEEET [agT R ERE{Al 2/
1
vold feool{ 1int B[1[31)
i
++ b:
E[1]1[1] =100;
I

3 o BT C FECHE B X (32bit)[1 bit 31~29 ISR 0 . (bit 0~bit28 {f-Ff
JFAC i)
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L LA R

A, vy meatimis

vold fliint *, int):
vold(*p[2]) { int *,

int};

volid £1( int* p , int q)

1

int tmp;
tmp = p;:
P o=
q= tmp;
1

int maini)
i

int a;

int b;

pl0] = pll] = £1;
a=5; kb=10;

pl0] (ea , b);
printf{"sdLvt sdLE"
pll] (&éa , bj;
printf{"%d\t sdLt"
!

5. st

vold fool{int ) ;

malin ()

{
int a=3;
fooilal;

vold fooi{int n)
{

if in=0)

{

foo(--n);

printf (" d" , nl;

foon--1;

}

i LR

a ,bl:

a bl;
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6. st

#include <stdio.h>

vold foo(int *a, int r, int nj

{

int k=al[r]:
int j:
{(J=2*r+1l; Jj<=n; J=3%2+1)
{
(J<n)
(a[3+11>aljl) J++:
(k>=a[]]} ;
al(J-Ly/21=al]jl:

}
al (1-1)/2]1=k;
}

int main {void)
{
int i,73:
int b[1l0]1=i4,7,1,5,15,12,9,6,3,81:;
int n=10;
n=n-1;
(i=(n-1)/2; i»>=0; i--)
fooib, 1,n 1:

(9=0; 3<10; J++4)
printf ("sd\t", bB[J1);

printf{"\n";
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7. 55— MG TR RS I it - it 5 U bit £5 1 IRpas L, 45 A 22
T B SE—# byte fH AT 7\’

static unsigned char font[]=
{

0x38,

Oxéc,

Oxc6,

Oxfe,

Oxc6,

Oxc6,

Oxc6,

0x00

8 . Give two methods to implement a Stack: Also s their pros and cons.

Then write a C/C++ or Java program for one of thos
] S—

10. Write a routine that rotates the bit pattern for the character c left b bits.

unsigned char rol (unsigned char c, unsigned char b);

ex. k=rol(0xa3,2); k—=>0x8e
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